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SRR U T AT 7IL MEEEERR 3.4+3.2+2.75+2.6=12.0
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SHE R T AT 7IL EEEER HWEHEELY
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RREEIE WEME., MERARRE - 30 |BEHEELY
t=F3cm 261. 5+233. 9=495. 4 495, 495 m2
== BAEZREA (13), t=F¥bcn|BEHAFEE LY
W=1.4mPLE3. OmLUT 171. 171] m2
x[E BEZMEA(13). t=bem |[HEHEE=LY
W=1.4mPLE3. OmLULT 261. 5+233. 9=495. 4 495, 495 m2
XE#RT
1. 11 =
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AR X E R A, K- R2E - XF. ae|EMHBER  (26.85+16.51+16.51)%1.2=71. 8 JEITEER
15cm¥a B, t=1. bmm, {HARXME 71. 72 m  |L=59. 87m
AR X E R ApizX, EfE15cm, BE 96. 7+96. 2=192. 9
t=1.5mm, HEHAXHE 192. 190[ m
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A, WS —BREER EE) (93.4+94.8=188.2
FE#245cm, t=1.5mm, HAXE 188. 2 190] m
AmmxX., £7545em, B2 (2.5
t=1. 5mm, HEAXHE 2.5 3 m
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# = it g No.1
_ _ _ _ _ TEAR=SYEHR

SRR - TRRERIE - R (L) [SA R R BR R - REEEIE - KRB (R)

A= XMEE# |8 8 | TH | T B |BE|FEW| T &
g & g &

0+ 00 3.15 2.50
0+ 08 0.8 4.10 3.63 2.9 3.50 3.00 2.4
0+ 22 1.4 4.10 4.10 5.7 3.50 3.50 4.9
0+ 22 0.0 4.10 2.40
0+ 34 1.2 4.10 4.10 4.9 2.40 2.40 2.9
0+ 34 0.0 2.55 2.40
0+ 105 7.1 2.50 2.53 18.0 2.40 2.40 17.0
0+ 205 10.0 2.55 2.53 25.3 2.40 2.40 24.0
0+ 305 10.0 2.55 2.55 25.5 2.35 2.38 23.8
0+ 405 10.0 2.60 2.58 25.8 2.30 2.33 23.3
0+ 505 10.0 2.60 2.60 26.0 2.30 2.30 23.0
0+ 608 10.3 2.60 2.60 26.8 2.20 2.25 23.2
0+ 724 11.6 2.65 2.63 30.5 2.30 2.25 26.1
0+ 825 10.1 2.70 2.68 27.1 2.45 2.38 24.0
0+ 925 10.0 2.75 2.73 27.3 2.50 2.48 24.8
0+ 982 5.7 2.75 2.75 15.7 2.60 2.55 145
N E 98.2 2615 233.9
& & 98.2 261.5 233.9




Eo = £ No.2
_ TEAR=YEHR
x[E(C)
A = X [ EE At B EY| F B
g &
0+ 30 1.80
0+ 105 75 1.80 1.80 135
0+ 205 10.0 1.80 1.80 18.0
0+ 305 10.0 1.80 1.80 18.0
0+ 405 10.0 1.80 1.80 18.0
0+ 505 10.0 1.80 1.80 18.0
0+ 608 10.3 1.80 1.80 185
0+ 724 11.6 1.80 1.80 20.9
0+ 825 10.1 1.80 1.80 18.2
0+ 925 10.0 1.80 1.80 18.0
0+ 982 5.7 1.80 1.80 10.3
N E 95.2 171.4
& & 95.2 171.4
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A R XEER |[[ES(mm)| F B | FEmM2)
[E&(mm)

0+ 30 0.00
0+ 105 75| 4200| 21.00 0.16
0+ 205 100| 51.00| 4650 0.47
0+ 305 100] 60.00| 5550 0.56
0+ 405 100] 3200| 46.00 0.46
0+ 505 100] 59.00| 4550 0.46
0+ 608 103| 61.00| 60.00 0.62
0+ 724 116| 51.00| 56.00 0.65
0+ 825 101 | 59.00| 55.00 0.56
0+ 925 100]| 49.00| 54.00 0.54
0+ 982 5.7 000| 2450 0.14
A&t 95.2 4.62

4.62/95.2=0.049

THES 50mm
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T B X B % & i
OB - BT (1. 75%1. 7) + (1. 75%1. 9)+ (1. 75%1. 75)+ (1. 8%1. 9)+ (1. 85%1. 35)+ (1. 85%1. 6) + (1. 8%1. 95)
(1. 85%1. 35) + (1. 85%1. 35) — (0. 72%0. 72%9) =22. 1 m2 22.1
RO (1. 75%1. 7-0. 72%0. 72)*0. 038/2=0. 05
K@ (1. 75%1. 9-0. 72%0. 72)*0. 047/2=0. 07
KM@ (1. 75%1. 75-0. 72%0. 72) 0. 056,/2=0. 07
K@ (1. 8%1. 9-0. 72%0. 72) *0. 028/2=0. 04
K® (1. 85%1. 35-0. 72%0. 72) *0. 055/2=0. 05
KI® (1. 85%1. 6-0. 72%0. 72) *0. 057/2=0. 07
RIRD (1. 8%1. 95-0. 72%0. 72)*0. 047/2=0. 07
IKIE® (1. 85%1. 35-0. 72%0. 72) *0. 055/2=0. 05
K@ (1. 85%1. 35-0. 72%0. 72) *0. 045/2=0. 04
7 0. 05+0. 07+0. 07+0. 04+0. 05+0. 07+0. 07+0. 05+0. 04=0. 5
m3 0.5
495. 4%0. 05=24. 8
m3 24.8
At 0.5+24. 8
m3 25.3




